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Kinetics - 1
Lecture - 15-17
Cauchy stress tensor, Equilibrium equations, Principle of virtual work

So, today we are going to start our next topic which is; Kinetics. So, in next 6 lectures we will
cover the topic of kinetics and in the first 3 lectures that we will have we will be covering the

topics of Cauchy stress tensor, Equilibrium equations and Principle of virtual work ok.
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So, following are some of the topics that we are going to cover not necessarily in this lecture,

but in the coming lectures. So, we will discuss conservation of mass, then the Reynolds



transport theorem that we did towards the end of kinematics we will now be specialized

towards extensive quantities ok.

And then, we will discuss balance of linear momentum followed by Cauchy’s stress principle
and finally, we look into the Cauchy stress tensor ok. We will also look into what is meant by
objectivity and what is the effect of rigid body motions and what are it implications on stress
objectivity ok. Finally, we will derive equilibrium equation and then we will do principle of

virtual work ok.
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1. Introduction

+ In the previous lecture we derived kinematic fields to characterize the deformation of the body.

These fields however alone cannot predict the final configuration of the body under the action of
the external loading.

To predict the final configuration we require generalization of the laws of mechanics for particles to

the continuum bodies.

+ The laws of mechanics are: (a) law of conservation of mass, (b) law of balance of linear
momentum, (c) law of balance of angular momentum, y;onservalion of energy, and@;‘second
law of thermodynamics = _
B e i ‘
Rt

In present course, we study the first three and introduce the concept of stress and equilibrium for a

deformable body undergoing finite motion.

So, in the previous lectures we had derived kinematic fields. So, to characterize the
deformation of the body; but these fields alone cannot predict the final configuration or the

current configuration of the body under the action of external loading ok. So, just by knowing



the kinematic fields it is not possible that you be knowing the final configuration of the body

there is something more which is needed ok.

So, to predict the final configuration we require the generalization of the laws of mechanics
which are defined for the particles to the continuum systems or the continuum bodies ok. So,
we already from our undergraduate and our first year engineering courses we know the laws
of mechanics applied two particles or system of particles. Now, we have to generalize these
laws of mechanics to continuum bodies body which have infinite number of particles that is

continuum particles ok.

So, some of the laws of mechanics which we have to generalize consist of laws of
conservation of mass law of balance of linear momentum, law of balance of angular
momentum, conservation of energy and finally the second law of thermodynamics ok. So, the
last two which is the conservation of energy and second law of thermodynamics these two
topics will not be dealt in this course because this is not a course on fully on continuum
mechanics. So, we will just look into the first three laws how they can be generalized from

system of particles say to continuum bodies ok.

So, we in the present course we just study the first three and introduce the concept of stress
and equilibrium for a deformable body undergoing finite motion ok. So, we will not deal with
conservation of energy and second law of thermodynamics ok. So, in this present course our
material will be hyper elastic material and that would be already satisfying the second law of
thermodynamics ok. So, all the constitutive relations that we will derive will always satisfy the

second law of thermodynamics ok.
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2. Conservation of Mass

know that

/=

+ The total mass in the reference configuration is
given by

MiB) = [y, M ZE (3;)(

+ The total mass in the current configuration
is given by

M~

+ Consider a continuum body undergoing motion. Then from the law of conservation of mass we

+ Then the differential mass dm in the reference and current configuration is also same i.e.,

f=ror)

RASY

’:%

Eq. (1)

Eq. (2)

Now, coming to the topic of conservation of mass ok. Now you consider that a body is in the
current configuration as usual B 0 is the current volume bounded by surface del B 0 at time 0.

And then after deformation at time t it is occupying a configuration B and bounded by surface

del B ok.

So, from the law of conservation of mass, we know that the mass of this body before the
deformation ok. Let M B the mass and this bracket B 0 means it is a mass of the body in the
reference configuration ok. So, the mass of the body in the reference configuration will be
same as the mass of the body in the current configuration or the final configuration or in the

deformed configuration. So, that is what law of conservation of mass tells us that mass will

not be created or destroyed ok.



Now, if that has to be true now let us calculate a mass expression for this mass in the reference
configuration as well as in the deformed configuration and let us see what we come up with
what kind of equations we are have to deal with ok. So, now if you consider a small say if you
consider a small infinitesimal mass d m ok. So, as the body deforms this infinitesimal mass also
deforms. Now from law of conservation of mass the mass of this differential element before
the deformation should be same as the mass of the differential element in the deformed

configuration; which means the mass is nothing but density times the volume ok.

Let d V be the volume in the deformed configuration and let d V 0 be the volume in the
reference configuration. So, let density in the reference configuration be rho 0 and the density
in the deformed configuration be rho ok. So, the differential mass d m in the deformed
configuration will be given by rho times volume d V and in the reference configuration will be
rho 0 d V 0 ok. Remember rho is a spatial quantity here; which means it depends on the spatial

coordinates and rho 0 is a material quantity it depends on the material coordinates ok.

So, now if I can to get the total mass in the reference configuration what have to do? I have to
integrate ok; so I have to integrate this expression over here over the entire volume of the
body and this is what I get. So, I have to do this integral over the entire body of the quantity
rho 0 d V 0. So, I have explicitly put here in bracket X comma t to show that the density in the
reference configuration depends on the reference coordinate ok; rho 0 is in the material

description ok.

Similarly, I can get the mass total mass of the body in the deformed configuration ok. And this
is obtained by taking integral over this quantity over the current volume integral rho d V ok.
So, here you see rho is explicitly a function of spatial coordinates and time t ok. So, now if |
use equation 1 equation 3 equation 4 which means; I take equation 3 and 4 and I substitute

this in equation 1 what do I get ok?
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2. Conservation of Mass

« Then, from Eq. (1), (3), and (4) we get
fBu po(X. 1)dVy = fB ple, t)dV Eq. (5)

+ Also we know that
Eq. (6)

« Therefore, using Eq. (6)in Eq. (5) we get

fgﬂtpo(x‘ t) - @p(w, t)Ji V=0 B0
¥—V‘~_J

+ The integrand must be zero. Therefore we get the material form of the conservation of mass as a

——y

field equation as

1’ & 4) Eq. (8)

I get the integral ok, the volume integral of tho 0 d V 0 should be equal to the volume integral
rho d V ok. Now, I also know from our discussion in the kinematics that the relation between
the volume element in the spatial configuration and the volume element in the reference
configuration is given by d V equal to J d V 0 ok. So, what I can do now is; I can substitute; I
can substitute this over here and then I can write and I can bring the integrals on the left hand

side.

So, I can write the integral volume integral or the reference configuration rho 0 minus rho into
J d V 0 equal to 0 ok; which means the now because this is applicable for any body; which
means this integrant here that you see here this is the integrant this has to be equal to 0. So,

what do you get? You get rho 0 equal to J times rho; which means the current density times



the Jacobian equal to reference density ok. So, remember this we also derived during

kinematics ok.

So, this equation 8 is called the material form of the conservation of mass ok. So, that is a
material form which means there has to be I mean there can be something called spatial form
ok. So, this is the material form now if I say this is material form definitely there is something

called spatial form let us see now we try to get the spatial form of the conservation of mass

ok.
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2. Conservation of Mass

+ ltis possible to get the spatial fon rvation of mass. For this we take the material time
derivative of Eq. (4) assuming that the mass remains conserved from one instant to the next as

- Dm(B)\ D
b?t m (B)—r@fdv) @: = Jyple, t)av @\ Eq. (9)

+ The ri@} hand side of the above expression can be computed using the Reynolds transport
theorem given by I:fﬁa(zt,’()dv

Reynolds Transport Theorem =3 [ = Jslile, 1) + g, 1)
—_— [pweN) —

divﬂ 3o )= febEq. (10)

+ So, we get

D%@ = 1iB) = [y @ z,t) + plz, t)(dive)jdV =0 Eq. (1)

or dropping the explicit dependence on x and t we get

Dm(B) .,
o m(B) = fs
+ The integrand must be zero. Therefore we get e spatial form of the conservation of mass as a

field equation a; [ = QE =0 }f-r-lff &= Mo ;c-'vm M. Eq. (13)

Eq. (12)

For this what we have to do is we have to take the material time derivative of equation 4. So,
equation 4 was m B equal to rho d V ok. Now if I take the material time derivative on both
the side D by D t of this ok. So, it will be D by D t of this quantity over here that is what we

have written ok.



Now, if you remember the Reynolds transport theorem that we discussed towards the end of
kinematics and which is reproduced here. Reynolds transport theorem for an integral quantity
of a spatial quantity ok. So, if I had remember if I have to take the material time derivative of
an integral quantity I which is integral of a spatial quantity g over the current configuration;
then Reynolds transport theorem told me that the material time derivative of the integral will

be nothing, but g dot plus g divergence of v ok.

Now, in our case here if we see our g here ok. So, if I compare equation 10 with equation 9 I
can see g X comma t is nothing, but tho x comma t ok. So, I using this Reynolds transport
theorem I can evaluate the right hand side of equation 9. And because the mass does not

change with time the material time derivative of the mass is nothing but is equal to 0 ok.

So, now if I use the Reynolds transport theorem what do I get? D m by D t or I can write m
dot is equal to integral over the current configuration rho dot plus rho divergence of v. So,

this is rho is your g; so all we have done is we placed g by rho in equation number 10 ok.

Now, what happens? This quantity is equal to 0; which means the integrand must be equal to 0
ok. And the integrand has to be equal to 0 which means this quantity over here ok. So, what I
have done between these two is, I have just dropped the explicit dependence on the spatial
coordinates and time t ok. So, this quantity in the bracket which is the integrand has to be
equal to O for equation 12 to hold ok. And this equation number 13 is called the spatial form

of the conservation of mass ok.

So, the material form was rho 0 equal to J rho that was the material form of the conservation
of mass; material form of conservation of mass ok; and the spatial form of conservation of

mass is given by rho dot plus rho divergence of v ok.
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2. Conservation of Mass !

+ Eq. (15) can be further simplified using the relation for material time derivative of a spatial quantity
which is reproduced below

by _dgfe.t)| oo 006X, 0) o)

Material Time Derivative §(.t) = - et &, e == @'

+ Using this Eq. (15) given by @m)an; reduces to

5 Losi+ /v Ead)
+ Combining the last two terms we get 2 v+ f,}"vg
—— o (T

i

m + div(pv)= 0 Eq. (15)

+ Equation 15 is also called the continuity equation,
—_—

Now, again I can simplify equation 13 further ok. So, to do this what I can do is I recall the
concept of material time derivative of a spatial quantity ok. Remember the material time
derivative of a spatial quantity g which is written as g dot is nothing, but del g by del t which
means | keep x fixed here del g by del t plus the gradient of quantity g times the velocity ok.
So, del g by del t plus the gradient of the quantity g plus the velocity ok.

Now, if you see our expression number 13, we have the material time derivative of density
sitting over here ok. So, I can express and that density rho ok. So, this density rho here is
nothing but a spatial quantity. So, if this is a spatial quantity then using the concept of material
time derivative, I can write g dot ok. So, this is the equation. So, I can write our g is rho. So, |
can write tho dot as del rho by del t plus gradient of rho times velocity plus rho times

divergence of v that is here equal to 0.



Now, I can now concentrate on these two expressions ok. So, this is nothing, but if you do
you can show that this is nothing, but divergence of rho v; how? I can show divergence of rho
v is in indicial notation I can write rho this is v i bracket comma i and this is nothing but rho

comma iv iplus rho vicomma i.

So, rho i is nothing, but gradient of rho times velocity plus rho times divergence of v.
Therefore, divergence of rho v is nothing but gradient of rho time velocity plus rho plus rho

into divergence of velocity ok. So, that is what we had here therefore, this is what we get ok.

So, combining the last two terms we can get del rho by del t plus divergence of rho v equal to
0 ok. And this equation number 15 is also called the continuity equation its used a lot in fluid

mechanics not so much in solid mechanics, but in fluid mechanics ok.
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3. Reynolds Transport Theorem for Extensive Quantities ’

+ The conservation of mass can be used to obtain a useful corallary to the Reynold's transport

theorem for the special case where g is an extensive property, i.e., a property that is proportional to

mass. This means
= g=p =

where ¢ is a density field (g per unit mass).
+ Remember Reynolds Transport Theorem i s, )V = [ ((x, t)i@;,) divv)W

D o 6 S?‘f‘f
= [spodV = [y 1vv v
S S \4
= l; (_@+ (pé + p?divv“!dv .
vz0  JtfdvLzo

%’tﬂ,f PN ==t«’ Eq. (16)




So, now the next topic we have specialization of Reynolds transport theorem for extensive
quantities ok. Now what are extensive quantities? Extensive quantity is a quantity which is
proportional to mass ok. So, if g is an extensive quantity so it will be proportional to density;

it will be equal to density times phi where phi is a density field which means g is per unit mass.

Now, if you have certain quantity like this then your Reynolds transport theorem which is
again reproduced here ok. Remember Reynolds transport theorem allowed you to compute the
material time derivative of integral of a spatial quantity over the current configuration ok. So,

and it was given by following expression.

Now, let us see if we have a special case, where g is equal to rho times phi rho is density and
phi is your density field. Then what I can do is, I can substitute g equal to rho phi in this
expression ok; if [ do this I will get rho phi dot ok. So, this is nothing but the material time

derivative of rho phi plus rho phi times divergence of v ok.

So, this is g ok; so which is nothing, but rho phi ok. So, I have just substituted g equal to rho
phi. Now I can expand this term ok. So, it is a time derivative of product of two quantities.
So, I can expand that and that would become rho phi dot plus rho dot phi plus there will be

second term over here which is rho phi plus divergence of v.

So, I can take rho dot phi plus rho phi divergence of v inside the bracket and I can take out.
So, because phi is common in both the expression I can take out phi out from the right hand
side and then I get rho dot plus rho divergence of v ok. So, I get rho phi dot plus phi times rho

dot rho divergence of v integrated over the current configuration ok.

Now, if you remember; the continuity equation or if you basically remembered the spatial form
of the conservation of mass. So, this is your same expression the spatial form of the
conservation of mass therefore, this is equal to 0 ok. Because we have said rho dot plus rho

divergence of v is equal to 0.



If that is equal to 0; we get the material time derivative of an extensive quantity. That is
extensive quantity integrated over the current configuration as integration of rho times the

material time derivative of that extensive quantity integrated over the spatial configuration ok.

So, D by D t of B rho phi d V is nothing, but integral of B rho phi dot d V ok. So, equation 16
is very helpful and we will see its utility in the coming slides ok. So, this is the specialization of

the generalized Reynolds transport theorem for extensive quantity ok.
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4, Balance of Linear Momentum

A. Newton's Second Law for A Particle — balance of linear momentum principle

+ The well known principle of conservation/balance of linear momentun@fer a particle of mass m
Al Gl
and occupying position rand under the action external forces| F; ;js given by

Here, L= mi VB
———— E - O

Gl e : ’+ 9 )1 z
Substitution gives n. . T 7/'
Dt

+ [fthe particle mass m is constant then we can write

Now, we come to discussion on balance of linear momentum ok. Now before we begin the
balance of do balance of linear momentum for continuous body let us start with balance of
linear momentum for a single particle ok. So, we know that from the principle of conservation

or the balance of linear momentum and the linear momentum is denoted by bold L for a



particle of mass m and occupy position r under the action of external forces given by F

subscript external.

So, let me write F subscript external is given by the material time derivative of the quantity L
is equal to the net external force acting on the body ok. Material because I am concentrating
my attention on a particular particle I am not concentrating my attention on a particular
position that is why I have to take a material time derivative that is why you have D by D t of
L. So, the rate of change of linear momentum is nothing, but the net external force acting on

the particle ok.

Now, if the particle mass was m and its position was r then its linear momentum is given by m
r dot ok; where r dot denotes the current velocity and F external is equal to small f ok. So, F is
the external force acting on the particle therefore, if you substitute these two expression in
equation number 17 what we get; D by D t that is the material time derivative of the linear
momentum m r dot is equal to external force f ok. And because the mass is constant the mass

does not change because this would be equal to m dot r dot plus m r double dot equal to f.

But now, since the mass does not change the first quantity is equal to 0 and then what we get
for a constant mass we get mass times acceleration equal to net external force acting on the
particle. So, this is nothing, but the Newton’s second law for a rigid particle of mass m

currently located at position r under the action of forces net external forces f ok.
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4, Balance of Linear Momentum

B. Newton’s Second Law for Systems of Particles

+ Now consider a system of N particles with mass m@nd oceupying position X3 Then the total linear

momentum of the system of particles is given by =4 e N

N . ; .
L= z miri _—M‘T_\-\-l’\x!},-%..-- A A (Y Eq. (18)

i=1

« The net external force F,y is given by (Fm) el

+ Then, the Newton's second law implies that

| where f is the net force on the ith particle.

D ) N X
SU=Fo B Tmdi= 1S, } B Eq. (19)
e ——— A

+ The next step is to generalize the Newton's second law_a system of infinite particles i.e. a

continuum which we discuss next.

Now, consider a system of N particles and let m i and r i be the mass and position vector of
the ith particle and i goes from 1 to N ok. So, then the total linear momentum of the entire
system of particles be nothing, but summation over the linear momentum for ith particle ok.
So, this is nothing, but m 1 r 1 dot plus m 2 r 2 dot like all the way up to m N r N dot ok. So,
this is the total linear momentum for the system of particles ok. Also let the net external force

be given by summation over f'i; where i is the net force acting on the ith particle ok.

So, the net force on the ith particle f i if you add for all the particles you get the net external
force ok. And now, we know that form Newton’s second law that rate of change of linear
momentum is nothing, but the net external force acting on the particle. Therefore, when we

substitute equation 18 and this equation on the right hand side what we get? We get mir i



double dot equal to f i and summation over i equal to 1 to N. So, this is the equation for

Newton’s second law for a system of particles ok.

Now what we want to do is let m go to infinity when N goes to infinity we have infinite
number of particles and that where we will be able to approximate our continuum ok. So, our
continuum is composed of continuum particles infinite number of continuum particles. So,
now, our job is to now let N tend to infinity that is where we are going to get our continuum
particle. So, you want to generalize the Newton’s second law for a system of infinite particle

that is a continuum ok.
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4. Balance of Linear Momentum f

C. Newton’s Second Law for Continuum Systems

+ Now consider a continuum system and consider a small infinitesimal volume of mass dm as shown

in the figure. Then the linear momentum dL is given by

dL = id Eq. (20 fgurt = Lo
sl Gt

+ The total linear momentum L(B) is obtained by taking the integration over the

volume of the body as /,,m‘; dmz fAV

L(B) = [,dL = [,&dm = [,&pdV Eq. (21
( J,Bq,-., fs jg/__/ q.(21)

+ The total linear momentum L is obtained by taking the integration Qver the

volume of the body as

) D, . . 7[ 7
@_ EthmpdV = Jg@pdV =[Feu(B) Eq.(22) Y |

Here, the total external force acting on the body is giv Fexi(B) b

So, in that case now let us consider our body at time t its occupying the configuration B its

bounded by del B. Now if you consider a small infinitesimal volume ok. So, the mass of this is



d m volume is d V and the density rho ok. Then the linear momentum ok; so this is the

zoomed view of that particle.

So, the linear momentum of the particle is x dot into d m ok. So, x dot is the say x dot maybe
x is the current position with respect to the coordinate system that is its current position. So,
the velocity is x dot and the momentum is mass times velocity mass is d m and velocity is x

dot. So, the linear momentum of this infinitesimal mass is in x dot d m ok.

So, integrating over the whole volume we can get the linear momentum of the entire
continuum body ok. So, the total linear momentum of the body in the current configuration B
is nothing, but integral over the entire volume of d L ok. Now if substitute d L as d m x dot
from equation number 20 this is what I get. And then because d m was rho d V I will get
equation number 21 for the expression for total linear momentum of the body continuum body

which is nothing but integral over the current volume x dot rho d V ok.

Now, the total linear momentum and I can take the material time derivative or the total linear

momentum of the body and that should be equal to the external force acting on the body ok.
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4, Balance of Linear Momentum

« The external forces on the body can be categorized into two types

a)

b)

The body forces —
i, Forces that act at a distance.
Al el B

i, Body forces act over the entire volume of the body. 4=

il. Examples: gravity, electric field, electromagnetic field, centrifugal, Coriolis effects

etc.

The surface forces —
i.  Forces that act at a short-range across the surface of the body resulting from

interaction of the body with i ndings.

ii. ~Surface forces act over the surface of the body.
i Exampl

So, here F external is the total external force acting on the body and the total external forces
can be categorized into two types ok; one are called the body forces ok. So, the body forces
are forces that act at a distance ok. So, the cause of these forces are present at a certain
distance from our continuum body they are not nearby the body they are at a certain distance

and because of certain effect the body experience certain forces the whole body experience

certain forces.

So, what happens? The body forces act over the entire volume of the body. And some of the
examples of body forces are; gravity force, electric field, electromagnetic field, centrifugal

force, Coriolis effects, etcetera ok. So, these are some of the examples of body forces;

remember body forces act over the entire volume of the body ok.




Now, the surface forces ok; the second type of forces are the surface forces. Now surface
forces are forces which act in the at a short range across the surface of the body and they
result from the interaction of the body with its surrounding ok. So, surface forces act over the
surface of the body as the name suggests. And one of the example of the surface forces are the
contact forces when you make one body come in contact with the another body then you have

surface forces ok.

Now, our next job is to obtain an expression for the net external force of the body when both
the body forces and the external surface forces act over the physical surfaces of the body ok;

physical surface and volume of the body.
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+ The expression for the body forces is obtained by integrating the body force density field, \b_% per
2RIl SIS [elololyiel(eiz skl 1S PET

jg@ifrs}ﬂw £9.(23)

df surf — tda

n

unit mass
b,

For example: for gravity force acting in the negative‘direction the body for density

is given in terms of the acceleration due to gravity g as

= —geg

Then, the gravitational body force follows as
i = () .

where m(B) is the total mass of the body B

So, now let us see so let us start with the getting the expression for the body forces ok. So,

our volume small infinitesimal volume let it be acted over by body force density field b ok;



which maybe depended on the configuration current position of the point and this body force

density field is per unit mass ok.

Then the total body force so the total body force will be integral of the body force density field
b times the infinitesimal mass ok. So, if b is body force per unit mass then the body force for
this small infinitesimal element would be b times d m. So, the total body force will be nothing,
but integral over the entire volume sorry integral over the entire volume. And d m is nothing,

but rho d V so equation 23 gives you the expression for the body forces ok.

For example; let us take the case of gravity force and let us see if you have a gravity force
acting in the negative e 2 direction say; x 1 direction is your horizontal plane and x 2 is a
vertical plane so the gravity forces act in the negative x 2 direction or negative e 2 direction

ok.

Then the body force are given by minus g times e 2 where g is nothing but the acceleration due
to gravity ok. So, the body force field is given by minus g e 2. Therefore, the total
gravitational body force in case your body force is composed of gravity is given by integral of

minus g e 2 over the entire body ok.

Now, g is a constant 9.81 meter per second square that can be taken outside e 2 is a constant
in our case in this course its a constant it can be taken out ok. So, therefore, we have left is
integral of mass and this is nothing, but the mass of the body in the current configuration. So,
this is minus m times g e 2 is nothing, but your total body forces net body force acting on the

body ok.
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4, Balance of Linear Momentum &

+ The expression for the surface forces (or also called the contact forces) are defined in terms of the

surface density field of force per unit area called the traction field.
N~

+ Consider an element of area da in the deformed/current configuration as shown in the figure.

=) df surf — .
+ Let nbe the current normal to the area da.
g

+ Then, the resultant of the external interaction forces across this surface is

given bY A-fsurf
—_—

The limit of this force per unit spatial area da is defined as the external

I
traction or the stress vector. ltis given by
@; lm |2 Eq. (24)
a0\ Aa dm = pdV B
S b Timet=t

Now, let us see expression for the surface forces they are also called the contact forces and
they are defined in terms of the surface density field of force per unit area ok. Remember they
are defined in terms of surface density field of force per unit area which is also called as

traction field ok. So, the traction is force per unit area ok.

Now, consider you have this small area on the surface of the body the area is d a and the
normal to this area is n and the traction is given by t bold t. So, the total because traction is
force per unit area that force acting on this infinitesimal area is nothing, but d surf d subscript
surf is there to show that this is force on the surface that will be nothing, but force per unit

area times the area d a ok.

So, therefore, the resultant external interaction force across this surface is given by delta f surf.

So, the limit of this force the limit of this force per unit area d a is defined as the external



traction or the stress vector ok. So, it is usually denoted by symbol t bar ok. So, bar over the
traction suggests that it is a external specified traction and this is nothing but limit delta a
tends to O the ratio of delta f divided by delta a and in the limit delta a tends to 0 becomes d f

by d a; that is force per unit area ok.
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4, Balance of Linear Momentum

+ The fundamental assumption in continuum mechanics is that fi X

independent of how the surface area is brought to zero. ¢ (e

+ The total surface force on the physical surface of the body B is obtained by integrating the

differential entire physi rface of the body. It is given by
fa = [yt Eq. 29
TN\’

+ The total external force F.y; is then obtained as the sum of the total body forces and the surface
\‘——_—_/- e — ,.\- —

forces. It is then given by

Fe(B) = fB bpdV + fBB tda Eq. (26)
e

Now, a fundamental assumption in continuum mechanics is that this limit ok; that is in the
previous slide we were taking limit delta a tends to O delta f surf by delta a; so t bar was

defined as this.

So, a fundamental assumption in continuum mechanics is that this limit exists and it is finite
and it is independent of how the surface area is brought to zero. So, what your doing is; your

bringing this surface area to 0; which means your concentrating more and more at a point your



approaching towards a point. So, even if you approach towards a point the limit of this

quantity is exists and that is called the externally specified traction ok.

Now, the so total force on the physical surface of the body can then be obtained by integrating
the differential force over the entire physical surface of the body ok. So, this is the force on the
area infinitesimal area d a ok. So, the total force over the physical surface of the body will be
nothing but integration of this quantity over the surface of the body which is; del B ok. And
now because d f surf is nothing, but t bar d a I get the total surface force as t bar d a integrated

over the current surface of the body ok.

Hence, the total external force will be nothing but the sum of the body forces and the surface
forces; so, the sum of total body force plus the sum of total surface forces. So, F external will
be sum of the body forces total body forces plus the sum of external traction. So, this is body

forces and this is surface tractions; so, total force equal to body force plus surface tractions

ok.
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4, Balance of Linear Momentum

+ Substituting the expression for total bady forces in

D
gives /7 L e

D . _
ﬁf epflV = Fex(B) = [gbpdV + [ tda Eq. (27)
— e

BT

Now, we have obtained the expression for the net external force total net external force acting
over the continuum body which is del F external that is F external. So, now, if you substitute
the expression for the external forces in the following expression then; we have the material
time derivative of the linear momentum total linear momentum is equal to net external force

that is which is equal to the sum of the total body forces and the surface forces ok.

Now, comes the application of Reynolds transport theorem for extensive quantity. If you see
here our phi here is x dot which is function of x and t x dot is nothing but velocity ok. So, we
have a velocity field which is multiplied by density rho. So, from our Reynolds transport

theorem for extensive quantity ok; we can just simply take rho times phi dot.
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4, Balance of Linear Momentum

+ Substituting the expression for total body forces in

D 5
gives %

D ./ \ _
= f@v = Fe(B) = JybpdV + [,5da Eq. (27)
o S e
+ Applying the Reynolds Transport theorem given by Eq. (16) on the left hand side gives the spatial

form of the global balance of linear momentum for the body B as
A / _'i’:i' JsodV =6V + [, tda Eq. (28)
N~

Note: Sometimes the body forces b is gigen in terms of per unit volume. In that case the above

expression becomes K V : ey fmm p.\,
otV = @) + f Ut ELED

And because our x dot was equal to phi; so, phi dot becomes x double dot. So, we get the
integral over the current volume rho x double dot d V is equal to the net external force that is

the sum of total body forces and the total surface forces ok.

Now, a special mention I should have is that sometimes the body forces b is given in terms of
per unit volume instead of being given in terms of per unit mass. If the body forces are given in
terms of per unit body force field is given in terms of per unit volume then equation number 28

boils down to this expression.

So, the only difference is here you do not have rho density is absent because b here is force per
unit volume. Therefore, you just have to multiply by volume to get force unit of force here b

was per unit mass. So, you have to multiply by mass to get the expression for force.
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5. Cauchy’s Stress Principle

+ To obtain the local expression for the balance of linear momentum it is first important that we obtain

an expression like Js@pdV = [bglV + [, tdA for an arbitrary internal sub-body (E of body B :
Ve
€

+ This is not a problem for the body force term [, bpdV or the inertia term J5@pdV asthe

volume integrals and thus can be written for any sub-body £ E
3

+ However, the external applied traction term fazs tdA is written across the outer surface of the body.
Hence, it is not clear how something over the outer surface can be written for an arbitrary sub-body
E inside the body B

+ This was addressed by Cauchy in the year 1822 through his famous stress principle which is at the
e bt e o B

heart of the field of continuum mechanics
\___________——-_—‘-

+ Cauchy realized that there was no inherent difference between the external forces acting on the

actual surfaces of the body and the internal forces _actin: inside the body  tagmor, Mier, Eliot 2012

Now, we come to the concept of Cauchy stress principle; now to obtain the local expression
for the balance of linear momentum. Now what we have here this is the global expression for

balance of linear momentum ok.

Now, we want to get the local expression; why local? Because now we have the case of a
deformable body and we wish to determine the local response the response at every location
we wish to develop an equation which can give us the deformation at each and every point
inside the body. Therefore, we should have some local expression for the balance of linear

momentum ok.

For that it is important that we obtain an expression like this here the global expression for the
balance of linear momentum for an arbitrary internal sub body E of body B ok. Now if you

have a body B ok. So, we already have this expression for this body B. Now if I take a sub



body E of this body B ok; then I should be able to have the similar expression for this sub
body E ok.

So, now to get this expression for this sub body that is not a problem for these two volume
integral terms ok; because you can write these expression because they are volume terms you
can just take the volume integral over the volume of the sub body to get the local expression
for the left hand side term and the first term on the right hand side. The problem occurs for the
second term on the right hand side; because that term is the integration of the applied tractions
over the physical external surface of the body. And because this body sub body E is internal;
so we do not know the tractions on these body we know the externally applied tractions t bar,

but we do not know what is the distribution of traction on the surface of this sub body E ok.

Now, this problem was addressed by Cauchy in the year 1822; where when he gave his famous
stress principle which lies at the heart of the field of continuum mechanics ok. What Cauchy
gave ok; that is his Cauchy stress principle addressing of this problem where we did not know

how the tractions acted on the internal surface of the bodies ok.

So, Cauchy realized that there was no inherent difference between the external forces acting
on the actual surfaces of the body and the internal forces acting across inside surfaces of the
body ok. So, what he realized that; the way the external tractions act on the external force
external surfaces of the body the internal tractions will act in a similar way on the internal

surfaces of the body ok.
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5. Cauchy’s Stress Principle

+ Cauchy thecrized that both can be described in terms of traction distributions

+ This made sense since in the end the external tractions characterize the interaction of a body with
its surroundings like other bodies and the internal tractions characterize the interactions between

the two parts of the i surface.

+ This led to the famous Cauchy's stress principle as
ke el

The interactions of the material across an intemal surface in a body can be described as a distribution of

tractions in the same way that the effect of external tractions on the physical surfaces of the body are described

« This rather simple and innocuous sounding statement appears today as a trivial observation.

However, it paved the way for continuum theory of solids and fluids.

Tadmor, Miller, Elliot, 2012

So, once Cauchy realized that he theorized that both of them can be described in terms of
tractions distribution ok. And this made sense because in the end external tractions

characterize the interaction of a body with its surrounding ok.

So, the external tractions characterize how the body is interacting with the surrounding like
the other bodies. And the internal tractions characterize the interaction between the two parts

of the same body across an internal interface ok.

So, once Cauchy realized that he gave his famous Cauchy stress principle which is stated here
in concise manner. And it says that; ‘the interactions of the material across an internal surface
in a body can be described as a distribution of tractions in the same way that the effect of

external tractions on the physical surfaces of the body are described’ ok.



So, this is rather very simple statement and currently it may seem very trivial. But imagine 200
years back this was a very revolutionary idea and this paved the way for the continuum theory

of solids and fluids ok.

Now, what will do is; we will come up with the mathematical expression of Cauchy’s stress

principle. So, what does this mathematically mean?



